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METEES D L
135
100Bg/ kg% X 5L D0
BREHE
No BT FEE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 A= R6.11.13 [RARLULM=F (FEER BREE9(<4.0) BHEE9(<3.3) BRHEEY
2 A= R6.11.13 [RARLULM =T (FER BRHE9(<3.0) BREE9(<24) BRHEEY
3 At R6.11.11 BEERLULM=T (FE% BREE9(<4.0) BRHEE9(<34) - Janpcc
4 RIGHT R6.11.12 BEERLULM=T (FE% BRHET(<4.0) BRHET(<L29) - Janpcc N
5 = [EET R6.11.12 BRLWM=1F (5% BRHEE9(<5.3) 5.74 5.7
6 FEH R6.11.12 BRGSO (FEER) BRHET(<4.2) BRHET(<L3.5) - Janpcc
7 SEIRTHET R6.11.11 BRGSO (FEZR) BRHET(<4.3) BRHEET(<4.0) L Janpcac N
8 W= BT R6.11.12 BRSO (HEER) BRHEE9(<3.8) BREE3(<4.1) L Janpcac N
9 tSET R6.11.12 BRSO (HER) BRHEE9(<3.7) BRHEE9(<3.0) L Janpcac N
10 A RRET R6.11.13 FEARVDS=1T(EHh) BREE9(<42) BREE(<3.1) L Janpcac N
11 =pai) R6.11.13 BRUSI=1F (HEE%) BHEY(<L38) BHEEY(<3.9) BHEY
12 =pai) R6.11.13 BRUSI=1F (HEE%) BHEET(<42) BHEET(L5.1) BHEY
13 t=ET R6.11.13 BEROESL T (M%) BHEET(L5.1) BRHEET(<44) BHEY
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